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Important Question for SSC CGL 2017 By Alok Sir

If 100 cats kill 100 mice in 100 days, then 4 cats
would kill 4 mice in how many days?

gfe 100 fafeeai 100 &7 & 100 R wiRet & @ 4

fafeerail 4 73 Tt 3t F wmi?
(a) 4 days (b) 3 days
(c) 40 days (d) 100 days

In A ABC, DE || BC such that% s g,ifAC:5.6

cm, then AE is equal to
A ABC, DE||BC 39 WaT & T %:% af AC -
5.6 UMt @ AE foradh s@aT § ?

(a)42em (b)3.1cm (¢)2.8cm (d) 2.1 cm

If two circles touch each other internally. The
greater circle has its radius as 6 cm and the
distance between the centres of the circles is 2
cm. The radius of the other circle is

R g9 AT W TH-TA & Wyl & &1 a2 g9 &
forean 6 At € 3 g & el & oftwr #1 g 2 At @
@ g g w1 B e 82

(a) 3 cm (b) 4 cm (c)2cm  (d)5cm

An office opens at 10 AM and closes at 5 PM.
The lunch interval is 30 minutes. The ratio of
lunch interval to the total period of office
hours is

& HTATEE Ta: 10 S GoraT § ST 91 5 &t a8 gl
21 HisHTESRTYT 30 Tade &1 &iaT 81 WisHEemT i
HECTT i H IAE HT U F1 § ?

(a)1:7 (b)1:14 ©7:1 (D14:1

A Bookseller allowed 15% discount on the
books sold. Sunil purchased books worth Rs.
1500. How much will he have to pay to
Bookseller.

H forshar = st T3 YW@l U 15% @t G & |
g‘-ﬁﬁg{gma 1500 &1 qe @iiel | Wﬁ%aﬁ
ferat TV T AN ST FATT2

(a) Rs. 1200 (b) Rs.1250

(c) Rs. 1275 (d) Rs. 1300

If the ratio between the profit and sale price of
an article is 1 : 5, then the ratio between the
sale price and the cost price of that articleis:
Ife T avg & oW AR foht qoa & dig 1: 5 &
YU B, A U I & fast T i @ Tod &
sfter IrguTd AT ' ?

10.

11.

12.

13.

(a) 3:2 (b)4:3 (c)5:4 (d)6:5
What percent of 1 day is 36 minutes ?

36 Tie, ua &7 &1 fwamn wfdava grm?
(a) 25% (b) 2.5 % ()3.6% (d) 0.25%
A car covers a certain distance in 25 hrs. If it

reduces the speed by %th, the car covers 200

km less in that time. The speed of car is
T& &R $S g 25 90 § 79 &l g1 alg a8 U
mw’twﬁr%mmm%{,?ﬁmmﬁmﬁ'zm

fortlt, &9 g a9 &Y TR SR HT A That 82
(a) 60 kmm/hr (b) 30 kimn/hr
(¢) 40 km/hr (d) 50 km/hr

At what percent of simple interest will a sum of
money double itself in 15 years?

aﬁs‘grﬂmﬁwﬁmﬁmﬂmmww af &
A & Se?

@61%  ®m62%  (©6l% (@6%
3 3 2
1 1 1.1,
E_ ﬁ = 0, then the value of . + b is
gt L_ ! _o@li laamemido
Ja b a b
1 2 1
(a) — (b)Wab (0)— (d)
Jab ¢ Jab oJab

If x2 +y2+z2 =14 and xy+yz+zx =11 then
the value of (x +y+ 2)? is

i x2+y2+z2:14 iy xy+yz+zx =11 @
(x+y+2)? FMAT FAME ?

(a) 16 (b) 25 (c) 36 (d) 49

If V2tan?0=/6 and 0° <0< 45° , then the
value of sin6 + /3 cos6 - 2tan? 0 is

gfe  J2tan?6=./6 3T 0°<6<45°,
sin6 + /3 cos0— 2 tan? 0 &1 A AT ERM?
(a) 2/3 (b) 4/3 (c) 2 (d) 8/3
A positive number when decreased by 4, is

equal to 21 times the reciprocal of this number.
The number is :

U@ gATHE & | 4 HF & WX 98 39 Gehd &t
21 T[T & SER E W6t §1 98 EE & § 2
(a)3 (b) 7 ()5 (d9

at



14

15.

16.

17.

18.

19.

20.

If tana = 2, then the value of 3 Sma 3 is
sin® o + cos® o
IfE tanc = 2 @ smo T UE FT R
sin® o + cos” o
2 5 10
(@) (Mil © 5 @JC
If x-=3928 8, y «/27, then the value of
x+y——is
x2+xy+y
g x = 328 8,y = 327 IR x+y—Tl——23ﬂ
x“+xy+y
U= e ?
(a) 8 (b) 7 (c)6 (d)5

X

If x = 12andy = 4, then the value of (x +y) Y is :

X
g x =12 y=-4 @ (x+y)? HTAA FA § ?
(a) 48 (b) 1792 (c) 4096 (d) 570
In a triangle PQR,PQ = PR and ZQ is twice
that of /P. THen /@ is equal to
& 19 PQR W, PQ = PR 3R £Q, /P & g &1
@ £Q TorEa: sTX@T 37
(a)72° (b) 36° (c) 144° (d) 108~
If the length of a chord of a circle is at a
distance of 15 cm from the centre of the circle,
then the radius of the circle (in cm) is :
Ife Tk g9 &t ST &t a8 16 At @ 3K 9% a9 &
FE W 15 Gt &t gt WX &, @ g9 wi e (| @) §
femat gITit?
(a) 15 (b) 16 (c) 17 (d) 34
On 24th May 2008 the maximum temperature
of Delhi, Kolkata and Mumbai were recorded
as 35 °C, 33°C and 34° C respectively. What
was the maximum temperature of Chennai so
that the average maximum temperature of
those cities would be 35° ?

25 W3 2008 @, oo, Hicenman i qag & AeHan
AYHE HAY : 35 °C, 33°C o1 e 7= | 9wy &7
AR ATIH FAT AT IS 37 IR 1 ¥a ANfereraw
AU 35° gt ?

(a)34°C (b) 35°C (¢)36°C (d)38°C

The diameter of a sphere is twice the diameter
of another sphere. The curved surface area of
the first and the volume of the second are
numerically equal. The nuerical value of the
radius of the first sphere is

T et 1 AT Ok 7ot o A &1 AT 81 Uget &l
Afeha TagT 8 AR F NTaT H1 ¢E & qUaR § | Tgat
et @t e &1 SeTes aH T § 2

21.

22.

23.

24.

25.

(a)3 (b) 24 ()8 (d) 16

The thread of a kite makes 60° angle with the
horizontal plane. If the length of the thread be
80 m, then then the vertical height of the kite
will be

T Ul &1 Hig Afast Tag & Y 60° T HIUT ST
21 wﬁﬁgﬁa’aﬁsoﬁﬁ, A T A TeateT A

(a)@m

NE)

Study the pie chart carefully and answer the
questions. The pie chart represents the
percentage of people involved in various
occupations. Total number of people = 20000.
Trafafea o = # fafis =aamEt @1 gfaea ot
T R WE-WE @1 YA E a:m:r aﬁﬁn; 3T o
W 72 ¥ 75 &1 W Ul NN @ e w@E@m =
200000

1)80vV3m (¢)80m (d)40+/3m

Agriculture
33.30%

Industry

Service
20%

How many more people are involved in service

than in trade?

SR &t g 8 Gar A dfera e ot Gean fha 872

(a) 3660 (b) 2660 (c) 1660 (d) 660

The ratio of the people involved in service to

that of industry is

Aq1 ¥ WieTw &Rl X AT | Wfetw @i 1 U

FMR?

(a)1:2 (b)2:3 (©03:4 (M3:2

The sectorial angle made by the people

involved in service in the given pie-chart is

ﬁqn‘&w@aﬁﬁﬁmﬁmvﬁﬁmwﬁw
0T e 39T &7 272

(a) 36° (b) 90° (c) 72° (d) 108°

The difference between the maximum number

of people involved and minimum number of

people involved in various professions is

fafes saaumEl 4 dfew @l &l SIfRad §E& 3

JAAH T & sie AT fha 82

(a) 2640 (b) 3640 (c) 6320 (d) 5320



TS g H =M AC = 6em
Tl s o = i g4 = AB = 2¢m

BC = AC - AB
{
B JA Hi B
=6-2=4cm

4. O W BT 5Tl d DI
10Amto 5 Pm
[E— |

=7 hrs 30 min
7 hrs. l hrs
2
14 01

25 ¥ H=efl T = 4 x 25 = 100 fereto
N 125 km :
<100 km—->< 25 km >

25 km = 200 km

125 km = 200 x 125
25

=1000 km
e = /A
= 1000 _ 4 fomety/roen
25
® ®
1gfe 2
N
+13fee

— ANSWER KEY
1. (d) 2. (d) 3. (b) 4. (b) 5. (c) 6. () 7. (b) 8. (b) 9. (b)  10. (c)
11. (c) 12. (b))  13.(b) 14 (c) 15. (c) 16. (c) 17. (@)  18. (c) 19. (d)  20. (b)
21. (d) 22.(b) 23.(b) 24 (c) 25. (d)
HINT & SOLUTIONS
1. MD, _MjyD, ! =1:14
w; Wo !
100100 _ 4 x Dy 'S g %) -15%- 5 &
= ! 20 - Mp
100 4 :
Dy =100 days ; 17— Sp
: 20 unit = 1500
2. i 1 unit = 75
i 17 unit = 75 17
i = 1275
! {Sp= Mp- T3
AD :DB=3:5 i 1 : 5
AD _3_AE i Profit (@) _ 1
AB 8 AC ! SP.(flego) 5
3.4% i Cp=4 {~ Cp= Sp- Profit]
8 AC : pP= . P=Sp— frromn
3_AE i Sp:Cp=5:4
2 ig i 36 min
3= g <10 i 1fe7 = 24hrs= 24 X 60min
! 36 36
91= AE x 10 i Sax g0 100% = =2 x100%
AE =2.1cm. ' =92.5%
3. ; HMT &R &t o1 = 5 fepdito /ger
; 25¥¢ B el it = 25 x 5 = 125km
! . 125 km ’
i EEiCI] % ¥ 7 M,
TTAFFE = A i ST = 4km/h

1 Lunchinterval =total period of office hrs



W= #l % 100%
fF W X g9
-1 100%
1x1
3 3

0. 1 1 _,
Ja Jab
11
Ja  ab

Put the value & get the answer
a =1, b=1satisfied.

a141l,
11

+
option (c) 2 = 2 =2

1
a

satisfied

11.

x2 +y2 +22 =14
xy+yz+zx =11

(9c+y+z)2 :x2+y2+22

+2(xy + yz + zx)

=14+ 2(1D
=14+ 22=36

12.

J2tan20 = V6
J6

= tan 20 = J— =43
tan 28 = tan60°”
26 = 60°
6 =30°
sinB + «/gcosB 2tan2 (8]

U U LUl

14
2
ey
2

U
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13.

First Method :

& -4 = S x 21

& = x
x—4=1><21
x
x—2—4
x
- 21=4x
-4x-21=0
-Tx+3x-21=0
x(x-T+3x-7)=
x=17 x=-3

Let

x="7
Second Method :
go through option :
&A1 = &
x—4= 1 x 21
x
option (1)
3-4=-1
—zx21:7
3
-1=7
option (ii)
x="7
x—-4=7-4=3
luoi=1x21-3
x 7
3 = 3 satisfied
So, &1 =7
14. tana:gzzz_m
1 A 3R
5 3
1
sina = B = 2
K 5
coso = A St
K 5
sino i (2/5)
sinfa+cos®a  (2V5)2 +(1//5)3
__(2W5p)
8 .1
55 55
_ 2.9
NGRS
2 5/5 10
= W =
J5 9 9
15. x = 3/28 = (28)V/3

y=%27=@2n"3
1

=x+y-
x2+xy+y2

=u+w——~—giﬂ—«—
(x—wu2+y2+m0
(x -y

FENINE

=(x+y-

1 1

1 — —
3 -273)

_ (283 4 273)_ (28

28-27



19. Delhi T 3Tf&RaH qUAN = 35° C
Calcutta 1 31f¥eayq a9H = = 33°C
Mumbai 1 3f¥&haq aIaM = 34°C

o 3728 Chennai = S¥edd qoHM = ?
x° =28
Average Temp — [otal temp
y=3J27 o o :
Vo total
35 -
x3_3’3=28—27_1 :
140 = total

16. x = =
x=12, y=4 total temp = 140

xly _ 12/4
(x+ ™ =12+4) Delhi + Calcutta + Mumbai + Chennai = 140

| 3 _ i
= (16)" = 4096 ! 35+ 33+ 34 +Chennai = 144
17. P i Chennai = 38°C
| 20.
| ATQ,
R : \3
e ! — 41'c(d)2 = éJ'c X (é
/Q=2x /P Let /P=x ! 3 21
Q= 2x i = d=24cm
PQ = !
Q=FR ' 21.
= ! sin60° = —
ZP=x i 80
b - V38 _h
ZR= 2% : 2 80
/P+/Q+ ZR=180° | o h= 4043 m
5x = 180 !
x = 36° 1 22. (20-6.70) 5, 400
H ”
£Q=2x = 2x36° ! 100 15,30
= 72° Ans. ! = ~1og" X 20,000 = 2660
18. !
i 23. Required ratio = 20 : 30
i =2:3
Agmb s B , 24 %x360=72°
I % = W ST W G T o S S SR A oe (33,30 - 6.70) 20000
. | 25, N
g faaifSe e 2 i 100 ’
i 26.60 . 90,000 = 5320
m AODAGG i
s i
AD = DB = 8cm. !
AODA ¥ |
OD, AD,0A — Triplate (-+ ZODA — 90°) !
AD, OD, OA - Triplate i
Lol |
8§ 15 17 i

OA=r=<T=17 em.



